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Questions 31 to 35 are based on the-following page;
To live in the United States today is to gain an appreciation for Dahrendorf’s
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assertion that social change exists everywhere. Technology, the application of
knowledge for practical ends, is a major source of social change.

Yet we would do well to remind ourselves that technology is a human
creation; it does not exist naturally. A spear or a robot is as much a cultural as a
physical object. Until humans use a spear to hunt game or a robot to produce
machine parts. neither is much more than a solid mass of matter. For a bird
looking for an object on which to rest, a spear o-r_ robot serves the purpose equally
well. The explosion of the Challenger space shuttle(Pk ik & 5 AT K KAL) and
the Russian nuclear accident at Chernobyl drive home t\he huinan gt;ali(t}r/ef
tec_h\nology; they provide cases in which well-planned systems suddenly went
fayw;;(&ﬁ‘@ﬁ) and there was no ready hand to set them right. Since
technology is a human creation. We are responsible for what is done with it.
Pessimists worry that we will use out technology eventually to blow our world and
ourselves to pieces. But they have been saying this for decades, and so far we
have managed to survive and even flourish. Whether we will continue to do so in
the years ahead remains uncertain. Clearly, the impact of technology on our lives
deserves a closer examination.

Few technological developments have had a greater impact on our lives than
the computer revolution. Scientists and engineers have designed specialized
machines that can do the tasks that once only people could do. There are those
who assert that the switch to an information-based economy is in the same camp
as other great historical milestones, particularly the Industrial Revolution. Yet
when we ask why the Industrial Revolution was a revolution, we find that it was
not the machines. The primary reason why it was revolutionary is that it led to
great social change. It gave rise to mass production and, through mass
production, to a society in which wealth was not confined to the few.

In somelvhm similar fashion, computers promise to revolutionize the
structurewoFAmerican life, particularly as they free the human mind and open
new possibilities in knowledge and communication. The Industrial Revolution
supplemented and replaced the muscles of humans and animals by mechanical
methods. The computer extends this development to supplement and replace

some aspects of the mind of human beings by electronic methods. It is the

+ 5 .



capacity of the computer for solving problems and making decisions that
represents its greatest potential and that poses the greatest difficulties in
predlctmg the impact on soc1ety
.31. A spear or a robot has the qual?/y of technology only When it
A)is used both as a gqlm—and a physwal objec d

B)serves different purposes equally well

&)is utilized by man
myﬁﬁg D)can be of use to bOt-l'-l man a%‘ animal
32.The examples of the Challenger and Chernobyl cited by the author serve to
show that
A)if not given close examination, technology could be used to destroy our
world
(\-I_B)Iechnology is a human creation, so we are responsible for it
C)technology usually goes wrong, if not controlled by man
D)being a human creation, technology is liable to error
33. According to the author, the introduction of the computer is a revolution
mainly because —
A)the computer has revolutionized the workings of the human mind
B)\the computer can do the tasks that could only be done by people before
C)it bas helped to switch to an information technology
Q}«ths a great potential impact my
34. By using the phrase “the human q technology” (Para. 2, Lines 6-7),
the author refers to the fact that technology
has a great impact on human life
" B)has some characteristics of human nature
C)can replace some aspects of the human mind
D)does not exist in the natural world
35. The passage is based on the author’s
A)keen insight into the nature of technology
B) prejudiced criticism of the role of the Industrial Revolution
C)cautious analysis of the replacement of the human mind by computers

D)exaggerated description of the negative consequences of technology

c 6
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1. The main ide the passage is

2. Which of the following best reflects the main idea of the passage?
3. The purpose of the passage is

4.The passage is mainly about

5.What is the passagehy concerned?
<_>%%&§$a§/wﬁn

1.The flrst(second/ast)paragraph deals with

2.The. . . paragraph informs(tells)us that

3.1t can be summarized from the. . . paragraph that

4. The main point the author makes in the. . .paragraphis
(2) XFXEREHRE

1. What would be the most appropriate title for the passage?

2.The passage could be entitled

3. Which of the following would be the best title for the passage?

4. With what topic is the passage primarily concerned?
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Most people do not think of fishes and other marine animals as having
voices, and of those who are aware of the fact that many of them can“speak”,

few understand that these“conversations” have significance. Actually, their talk

may be as meaningful as much of our own. For example, some sea animals use

their” voices” to locate their food in the ocean expanses; others, to let their
fellows know of their whereabouts; and still otilérs, as a means of obtaining
mates. Sometimes, “speaking” may even mean the difference between life and
death to a marine animal. It appears in some cases that when a predator
approaches, the prey depends on no more than the sounds it makes to escape.

For example YA T, & F SR B . 37 # their talk may be as meaningful as
much of our own #j, TIABE—HREFINEEHER, FIEEEA.

BABRENEFEARBEEN. Bh, e MBREMEEHHEE,
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Bigm :
Questions 26 to 30 are based on the following passage:

The question of whether war is inevitable is one which has concerned many
of the world’s great writers. Before considering this question, it will be useful to
introduce some related concepts. Conflict, defined as opposition among social
" entities directed against one another, is distinguished from competition, defined
las opposition among social entities independently striving for something which is
in inadequate supply. Competitors may not be aware of one another, while the
pafties to a conflict are. Conflict and competition are both categories of

opposition, which has been defined as a process by which social entities function

« 9 .



in the disservice of one another.

Opposition is thus contrasted with cooperation, the process by which social
entities function in the service of one another. These definitions are necessary
because it is important to emphasize that competition between individuals or
groups is inevitable in a world of limited resources, but conflict is not. Conflict,
nevertheless, is very likely to occur, and is probably an essential and desirable
element of w

Many authors have argued for the inevitability of war from the premise that
in the struggle for existence among animal species, only the fittest survive. In
general, however, this struggle in nature is competition, not conflict. Social
animals, such as monkeys and cattle, fight to win or maintain leadership of the
group. The struggle for existence occurs not in such fights, but in the
competition for limited feeding areas and for the occupancy (i H )of areas free
from meat-eating animals. Those who fail in this competition starve to death or
become victims to other species. This struggle for existence does not resemble
human war, but rather the competition of individuals for jobs, markets, and
materials. The essence of the struggle is the competition for the necessities of life
that are insufficient to satisfy all.

Among nations there is competition in developing resources, trades, skills,
and a satisfactory way of life. The successful nations grow and prosper (3¢ );
the unsuccessful decline. While it is true that this competition may induce efforts
to expand territory at the expense of others, and thus lead to conflict, it cannot
be said that war-like conflict among nations is inevitable, although competition
is.

30. . The passage is probably intended to answer the question®

A)1s war inevitable?

B)Why is there conflict and competition?

C)Is conflict desirable?

D)Can competition lead to conflict?
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Questions 26 to 30 are based on the following passage:

Beauty has always been regarded as something praiseworthy. Almost
everyone thinks attractive people are happier and healthier, have better mallriages
an& have more respectable occupations. Personal consultants give them better
advice for finding jobs. Even judges are softer on attractive defendants( 45 ).

But in the executive circle, beauty can become a liability. A ‘:ff f»’> /

While attractiveness is a positive factor for a man on his way up the
executive ladder, it is harmful to a woman.

Handsome male executives were perceived as having more integrity than
plainer men; effort and ability were thought to account for their success.

Attractive female executives were considered to have less integrity than
unattractive ones; their success was attributed not to ability but to factors such as
luck.

All unattractive women executives were thought to have more integrity and
to be more capable than the attractive female executives. Interestingly, though,
the rise of the unattractive overnight successes was attributed more to personal
relationships and less to ability than was that of attractive overnight successes.

Why are attractive women not thought to be able? An attractive woman is
perceived to be more feminine (Z ¥£#J)and an attractive man more masculine

(5 ¥ 89 ) than the less attractive ones. Thus, an attractive woman has an
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